F2EERHAEASLZFAEAT— MBS (RE—FEBRIAES)

MESBF 500m
=KicEk 3577 R A (LiEE) 20084 FE63EA(RE)
[[=tivd K & B EEEN B &
1 W s X i RHE 35.71 (ARE%)CR
2 fo& ' o3 EHE 35.84 (ARES)
3 2K 82 FRAD 35.873 (ARE)
4 wH XM dbimE 35.875 (ARE%)
5 w R & R EEINTE 36.980 (BiRH)
6 F A Bt EcEINT 36.982 (BiRE)
7 R B 5 dtimaE 36.99 (BiRE)
8 & % EBR 37.93 (BiRE)
BEBF 1000m
KR8 11155 EREBAR (BWR) 20054 FE60EI K= (ELHH)
L K 4 B EEEN 5 &
1 (1T N REHE 1:1043 |E%EZTCR
2 o '3 RHE 1:1338 |EXET
3 (TR =: N S S dtimaE (1:10.63)
4 E 8 >3 EER (1:10.92)
5 B 8B 2 [ITECTS (1:11.40)
6 B 7K £ 2 Et (1:11.57)
7 f o B E FEL (1:12.06)
8 # ok — W A (1:12.31)
BEBF 1500m
KECER 14968 HH KF WHKR) 20144 E69EKX=(AF)
[t K & B EEEN " &
1 E OB O ot EFR 1:47.12 HHRETCR
2 A R EcEINN 1:4749 |EHE%XSETCR
3 +* B fE EHR 1:48.16  |EHAEZETCR
4 ® oW X TR 1:4950 [EHAEFETCR
5 E B =2 EER 15172  |BEXET
6 E H E ¥ RHER 1:52.14 BARET
7 B OE OE Ot =R (1:49.32)
8 B H E # IIFA (1:49:77)
BEBF 5000m
Stk 63464 B R (HER) 20144 E69EIA=(AK)
I L K 4 B EEEN 5 &
1 E S MM ot EFR 6:2249 |HEEZETCR
2 o o X TR 6:2253 |EXFETCR
3 x B fE RHER 6:22.76 HHRETCR
4 B oH Ot =R 6:2280 |HEZETCR
5 oo i =] 6:4459 |HEERET
6 &E B B ¥ EHE 6:50.20 BAET
7 X % = FHER (6:22.70)
8 X B 2 C dbiEE (6:23.73)

BREBF 2000mR

KLk 22452 JLEE (R PE. BB, KH)

20084 FE63EA(RE)

B wEm R A 541 [ren

1| gy | PH RIS ER 22431  |(ARES)CR
W RAE LR KM

2 | g [EH KM NR EH#) 455 |amBcR
FTE %8 | WE 8%

s |wpm BF BB ZF XRBL o0 anm
EW MK | HEEK — M
K% RA| Z@E S A

4 AFE 2:26.23 (ARES)

R m E-m e A b

5A D BE X® .

5 |[#=)II& 2:24.83 (BiRB%)
tA —® | k@ =H

o |wnm | BH B EH M50 e
BN EBEE| BN B2

7 |mam [ 2N B BB 00 ek
BA A | EE B
LT E LIRS .

8 |gam | =& B 23015 | (BRE
EE BA| KM MK

@

- N W A~ O o N ®

]
Tir

- N W A O O N ®©

- N W A OO N ®

]
Tir

- N W A O O N ®©

B

EHER(EHH)
REXZF 500m
SRR 39.44 BH AF (LiEE) 20054 E60E A (ELHH)
Bz K % i B EEEN B &
1 m ®m B B BIRE 38.37 (AiRH%) CR
2 BH A EFE 38915 (ARH%) CR
3 X B B B deiE 38.918 (AREE)CR
4 ® H i EHR 39.87 (AREE)
5 ¥y OH & E=357) 40.98 (BiR M)
6 #H HH Y I 4107 (BiRH)
7 TR - dtiEE 41,09 (BiRH)
8 EH FHEF EFE 4172 (BiRRE)
RELF 1000m
£508% 11823 = BF (dtiEE) 20054 ZE60[E K= (ELHH)
Bz K % B EEEN & &
1 m E E B ERER 1:16.74 |&H%ESETCR
2 BH® A EFR 1:2480 |EXET
3 & E & BRE (1:17.61)
4 o oH & EHR (1:17.91)
5 Xx B #F & BER (1:18.26)
6 wE =& EFR (1:18.27)
7 TR - deiE (1:18.41)
8 B F E X BER (1:21.03)
BELZF 1500m
S0 20092 BHME B (BWR) 20164 71 EAR(ER)
[t K £ T B EEEN B &
1 &8 K &F HER 2:00.57 HESETCR
2 ] P22 EHE 2:0605 |EXET
3 T o# B K EFR (2:01.34)
4 M HE FRXE BRER (2:01.37)
5 BER OEEREXR EHE (2:01.42)
6 B H 3 % IR (2:01.69)
7 EH ® F RFPR (2:02.70)
8 NEF B X deiE (2:04.49)
RELF 3000m
LR 40554 £l EE (EHE) 20084 F63EMAR(ES)
Bz K % B EEPN i &
1 ] W EHE 40537 |HE%XSETCR
2 BR OEEREXR AR 40645 |HXRET
3 fl 8 B K AFR 4:06.48 HETT
4 B qxEF I 4:07.67 HEET
5 B TR % FIER 4:09.25 HEET
6 *t ®B & z [ITE-1) 40987 |EEET
7 X E ¥ & BEER 41542 |EEET
8 H 4+ | F EHE (4:06.55)

ARG 2.36.93 REFR (KE/N XEEZ. AR, 5/i) 200345 H58EARFER)

BREXF 2000mR

W ®E R R 2 SAL frem
1 REHE 3t # B AXT 2:39.045 (ARES)
mE 0| M »a
I LIETETL .
2 | R 2:39.048 (ARBE)
T aE by |HIE kT E
= =
3 dtiEE WR EF ER RE 2:39.14 (ARRE)
NBE BE| AE BB
4 |mEp | KB REIRE XEF 00 )
Y EEILEEL
BE A =B B .
5 | BF8R 2:44.04 (BiRB%)
B EEELE LT S
6 |mxgp | MFE BER|SE BHEX 50 | eam
WE EF|LE FR
7 |mep | B8 % FF B 00 | Gam
LI T
TR BB KL Bo® .
8 | IKER 3:01.26 (BiRMS)
RE BLE| LE 225

i

\
- N W A~ OO N ®

i
T

- N W A O O N ©

e}
i

- N W A OO N ®

i
T

- N W A O O N ®©

"R



MHEFF 500m

KEEk 3620 ME &A (LR 20034 58 KE(FER)
JIEGL K #£ B ESPN 5 &
1 a il 3 % 1t 338 36.52 (ARRE)

2 # = fit Lz 12 36.98 (AREE)
3 * B B B EFE 37.10 (AREE)

4 FHEM BE HAL 38.13 (AREE)

5 mOR &K HER 37.81 (BiRES)

6 £ R G [ITEY - 37.85 (BiRHE)

7 [ E = RHE 37.87 (BiRES)
8 & % B A HEFE 38.42 (BiRM)

DB F 1000m

ik 1.11.92 LA F{X (GtE#E) 20154 $70E K% (3%)1ITH)
JIE L K 4 iR EEPN " &
1 A B A F dtiEE 1:1145 |[EEZETCR
2 N B R X EHE 1:1282 |[EXAET
3 Ak B R it 38 1:1333 |[EXET
4 B E F X BER (1:13.32)

5 r k B &£ Wz 8 (1:14.45)

6 FHEM BE AR (1:15.23)

7 H oM B EHE (1:15.35)

8 t = H # i1} (1:46.00)

HEBEF 1500m

=ECEk 15143 Uk K (REFR)

20084F F63EK=(KRE)

Nz K & B ERPN 5 &
1 IR JtiEE 1:5203 |[EXET
2 AR OA & JtimE 1:53.36 |HEARET
3 * ESTI EHE (1:53:45)

4 mRE KA EHFR (1:53:70)

5 E A E KB THE (1:53:84)

6 it & 6 # Iz R (1:53:93)

7 #®iR E K AFR (1:54:16)

8 & = fi Wiz 8 (1:54:46)
4 BF 5000m

A=iREk 63050 B HE (RHR) 20014 FE56[E K= (ELHH)

£z K 4 B RPN i &
1 ® o #E EHR 6:4407 |EXRET
2 & B S JtigE 6:4420 |EXRET
3 EHE —F M I B 18 6:45.06 BAET
4 E A E X BHR 6:46.70 |HEEZET
5 mRE XA EHE (6:54.05)

6 F oK #— & JtimE (6:54.12)

7 N B E 1L 12 (6:54.80)

8 2 &5 E B BHER (6:54.93)
& BF 10000m

A&k 131878 E B (FHR) 20084F $63EAR(EE)

Bz K % B ERPN s &
1 ZH ZTFH Iz B 12 132292 |HEERET
2 NI RREB dbiEaE 13:23.17 |B%XRET
3 H EH # # RHER 13:4507 |&JEARET
4 BIR E KB EFR (13:44.58) |&%k 5
5 B2 5 E ® HEER (13:31.14) |HE% 4
6 LS HHE (13:36.40) |Hk 2
7 R E-3 EHR (13:44.68) |H% 2
8 F oK # — 8 it 38 (14:06.50)

DEBF 2000mR

ARk 2.25.81 il (BEH-EA)I-HE-=&H)

20124F F67EAS(ER)

5o & E fF R 4 ERPN w5
1| wme B EBRLEA AR a0a1 |smoR
2 | EmE _';‘f% ij; fk;m :g 22774 |(ARES)
3 | wie ;’i’; i;? ;;7; Kﬁ; 22777 |(ARE®
4 | KRR gg Zz %’g:izq 2:3726  |(ARES)
5 | EHRE -;:ﬁ iE; i’;}; _:’j 2:3406 | (BRE)
6 |wmm fg? E'; ;i ;g 23578 |(B3AM)
7 |#xm ;’;; :f *i”fj Eﬁfg‘ 23711 | (B
8 | AR ;Fﬁ'“—ﬂm E,rfﬁ EE :T; 23849 |(BIRHS)

- N W A O N ®©

S

s
—lebmm\Aoo:um

k]

- N W A~ O N ®©

I

s
—Nw.l;ma:\lcofum

S

A
—Nmbmmﬂm:um

DELF 500m

SRR 39.85 KE/NES (LiEE)

19994F FE54EAR(RE)

&L K B B4 L 5 &
1 BB B AFR 40.78 (ARBE)
2 mh < B H El#::30 40.80 (AR
3 R &K C dtiEE 4114 (ARRE)
4 ME B X IR 41.24 (AGRRE)
5 w AR F K EHE 40.71 (BiRRE)
6 & E 5 EHE 40.84 (BiRM)
7 w A # = iRz 2 41.06 (BiREE)
8 A BH # & =EER 41.11 (BiRM)
P B B (] HEFER 39.61 ($ERB%) CR
* mh < BH JtiEE 39.70 (R CR
* w oKX F IR RHR 39.76 (#REE)CR

£i08% 12048 /INE T (EFE)

DELF 1000m

20054 SE60EIAR (ELEHH)

B4z K % B BA L % =
1 w R F K RHE 1:20.41 HESETCR
2 S E] e 122356 |&EERT
3 = & B JLiEiE (1:20.43)
4 EECEE e (1:2052)
5 t & B 5 EHE (1:20.54)
6 IS JLimiE (1:20.62)
7 EH WP E AFR (1:22.22)
8 IS MET] (1:29.74)
PHELF 1500m
SR8k 20567 KiE [RE (dtimE) 20034 $E58E K (fFER)
IE E % R B B4 L % =
1 N WL e 20085 |&H%RTCR
2 Nl & A RHE 2:01.05 FEHESETCR
3 S JLiEiE 20313 [H%AERTCR
4 mH B X EHE 20600 |BHART
5 E M OB B JLimiE (2:01.29)
6 #H K & % L8 (201.31)
7 NH E KT MET:! (2:04.12)
8 N E B MET:! (2:04.80)
DELF 3000m
KEi4E 40885 P ZEE (higHE) 20084 E63EAR(ER)
[ K % B B4 L % =
1 #w K B % e 40909 |BEERET
2 B b H Y REHE 409.11 |BEERT
3 H B #® T JLiEiE 40973 |BEERT
4 = M BB JLiEiE 40976 |EERT
5 DAVTLYY LE Lz 2 4:09.87 BRATET
6 B L % EEE (4:10.03)
7 r E = EHE (4:10.41)
8 % B A B HEER (4:28.21)
DELZF 2000mR
KEiR8R 241.60 dbiEE CB. ME. FE. BO)  1999%F FH4RIRR(KRE)
[ #E B & BA L =
tE BES5 |8 BE e
1 EFE 2:39.55 (AR CR
BH BR | BE Fik
e [T < B8 |ER FaF ]
2 | dtisE 2:39.82 (A CR
PR mo kW AT il
W0 BE|MEA BE .
3 | LR 2:42.59 (ARBE)
Lram*aﬂfx HAk BE i
BN E | EIRT s
4 8 2:48.19 Aj;
WRR e 2nig| 0 68 & (WRE)
w EH WrE|RAZtE .
5 2 2:47.96 (B:
EFR ek mx mS @ A
_ Bl k% |22 w A .
6 2B 2:49.99 (BiRR%)
BER e me Am mE i
Bk BLE| B B s
7 | EHE 2:50.50 B
FRR ek BAE mE omy| 20000 |BRB
_ NEEEIE T _ BEIIDQ
BER I wvalgz FE (BIRH)

- N W A O o N ©

i

\
- N W A O o N ©

i

e
—Nw-br.nm\looﬂ'lm

i

P
—Nubmmqoo;‘um



